®

() (b, 0,0) 0%t

@8 288 308
(Lay= (3.8) = (1.0}

(6.0, u) =~ (o) = (3.0) o C3.10)

(6.0.0) = (Lolatii) = (1)
(e.v. L) ¥ o) =€) = (1, 3)
(v.o.0) ~ (o.1) = () = (3.0
(v,8.0) » (o0= L= G2
(L,u,0) = (o,1)= (o, 2)= (1.3)

(v,0L, V) ~» (o.t)= (0 3) = (o.7)

(£.0).(o0) (2,0), (1 L Cr3) (o 3),

0 3apfRje3s (3 3)Avipihr=i TiEfiag 2ia1s,
(o.0.00 ¢ (U, U, 0) EFEC ¢
208 3

Yy (b.o,v) &g ?,

4o T 45 Goacid® Iz (o0, 0y )
G (b,u, o)A ?

408+ o fs {4 A 3Mliiasay

(.. 6. 0.6, y)
G (s.v.u)ay 2

40R 15 o PB4 I
() (o 0,00, (0.6.0), (0.0, 0) = &7

() (W) e 2743482 X35

(u.U.c.o),(u,o,u,o,u,c\

e 2

(O'O,U,U),(V,U,O,o),(Q_U'O’U,OIU),(U‘O’UIO’Ulo)

St F QR (2)AfHIATRA

(4



2
X
a-3 203
N R ——( Jat )
x3 N x;w e)\ l Nn )lt

:ox(l—o—o) =0,

N 2023 -
b foy = f(-t) < b e’(x’(\- g ) = 0o
Ao -0° ate

— -

N xt
t -

- e (_).?+Ax_?>(+)&~942>(-4+§)
e (-a&m\-x .»a)

N SN a
Q—x (—X*A)()L-Q- \)

]

foo=oxnmsnisna, -

LEAaS R e tTiNha rsic/s
{(-\\ = e (l'\*G'—?-?Q*}) 5 e(h&) <o

}_:‘; {\r\) ~ s EBs ;(»)(: )(:-\.\\(-3 -EP'[\T@ E(‘"&) e

@ ‘jzfmom“??»: Taond5l<t3 1\3
)((0\) =€_¢(M3), -f(-u) celile)
TS5 YrRe D90 A $$a dox € (M)f",\
f()\)tgo; ﬁ%d\ éﬁb*3§?3‘m‘?“ —~r\ i
ST e(u?)

d<R<e (as3) a3 f@
R=e%adaes 2 @
RS etloa3) o2 ) &)

> _
P v oxe™y feu

s
= xe ey C (cie ﬁ} a\/&-&)
2 =N - . n _
g)ke dl -X e ffl)te"&»\ - ‘Xleq+2(...)(e—x .)(>+ ¢
- bt - -
e —2>Lex_)e R_‘_ ¢

(C I3 ﬁ%/ﬁ\a-‘t‘?)



()

. |
fvf"‘)dﬂ = Ib {" (-3 x - (M-!)j e oln

L § -X =X -
[—u e -axe _2e -(4-3)(—16(‘64) t(2e-3% Jo

1)

—-(—o-o -240 +(a-3)4-2a-$’)

{
l.":oga f(l)dx = -30+¢

SHlas -§‘c?+~la“ &iﬁ“ AN

e"’(—L‘- 2} 24 (e bra-s +20\~3) -3 4§

b

R R - -5 -
bt gbetooe b ta-s)be *’+(q-;)e +(20-3)€ :



®
() (oo o RO THEIATS

2 Jd 1
N B
X TH 39 gy s
|
Y30 dy n -3
ax -~ G

FHr (a b))z &im 3 J‘?ﬁ e
I
Yx o ()7 Ga) el

N
b3 b3
I+ (Z) xo= (a)io-pk L0

2 b
N AN VN S WS N C N X S C N R

'ﬁw‘\‘,‘ﬂ‘c. QD I

(é);n*» ({)%y = 03453 <t

( .
VR A nep o 22

Y
Enzivneizgend

!
QCo, bic?)
EELE PCa¥c’, o)
! \é o { 3 _’ d 2
Hisbao t&r o> M ( sa¥, $hie?)
(i) , 2 ' 2
ol = Ja3e?, Ve re . .
b @il et g

hivennE e i 11

(4) ‘b?§t$t33

Ocoact (xy)< ¢ ¢3)

.
OD{p<sacr Y20,

dx R
do = 2 C a0

WMrd) teo 3 mifrs

e Tl
L2 AR
. =(¢%e)
R 3
¢
> X

e



(;3
S=f Y dx

t3

= J e 6 dx
o

>

1l

fj e <3000 db

L4
6 (3 1g, 4
¢ 50/@&% 8dbd
3 6 (T 2
3¢ ), (mw0) () db

L

%c‘ f! | 16028 — ¢n'26 - 60’20 46
-

T

3 'y l .

Ecé fQ 14020 - S(4emd) ~ on26(1-a20)d8
2ot ﬁ‘l | k8 4 4220 (428 ) x 2 d 6

EC N 2 ‘S(Ah ‘\‘A xz

~

3 é[l (I ) o-s 3
-s-( 39‘ 33.7\49"‘- ‘A‘w 26]0

_}(_é X 3 14
Y Z 0O+D-0-0+t0) = =RC



